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M.A.  (First Year) Examination, 2012

ECONOMICS

MAEC - 02

ECONOMIC THEORY - 2

vkfFkZd fl)kUr&vkfFkZd fl)kUr&vkfFkZd fl)kUr&vkfFkZd fl)kUr&vkfFkZd fl)kUr&2

Time : 3 Hours] [Max. Marks : 60

Note : The Question Paper is divided into three Sections - A, B and C. Attempt each Section

according to the instruction.

iz'ui= v] c vkSj l rhu [k.Mksa esa foHkDr gS A izR;sd [k.M ds iz'uksa dk funsZ'kkuqlkj
mÙkj nsa A

Section - A

[k.M & v[k.M & v[k.M & v[k.M & v[k.M & v

(Long Answer Questions)

¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½

Answer any two questions. Each question carries 15 marks. 2 × 15 = 30

fdUgha nksnksnksnksnks iz'uksa ds mÙkj nhft;s A izR;sd iz'u 15 vadksa dk gS A

1. Discuss Keynesian Theory of Employment. Establish the relationship between Sav-

ings, Investment and Income.

dhal ds jkstxkj fl)kUr dh foospuk dhft, A cpr] fuos'k vkSj vk; ds chp lEcUèk
LFkkfir dhft, A
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2. What are the economic consequences of inflation ? Suggest measures to check infla-

tionary pressure in a economy.

eqnzk LQhfr ds vkfFkZd ifj.kke D;k gksrs gSa \ vFkZO;oLFkk esa LQhrh; nckoksa dks fu;af=r
djus ds mik; crkb, A

3. Discsuss Harrod-Domar model of economic growth. Explain 'Knife Edge Equilib-

rium' in this context.

vkfFkZd o`f) ds gSjksM Mksej ekWMy dh O;k[;k dhft, A bl lUnHkZ esa ̂ Nqjh /kkj lUrqyu*
dk o.kZu dhft, A

4. What are the objectives of fiscal policy in a developing economy ? How can we

achieve these objectives ?

,d fodkl'khy vFkZO;oLFkk ds fy, jktdks"kh; uhfr ds mn~ns'; crkb, A bu mn~ns';ksa
dks fdl izdkj izkIr fd;k tk ldrk gS \

Section - B

[k.M & c[k.M & c[k.M & c[k.M & c[k.M & c
(Short  Answer Questions)

¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½
: Answer any four questions. Each question carries 5 marks. 5 × 4 = 20

fdUgha pkjpkjpkjpkjpkj iz'uksa ds mÙkj nhft, A izR;sd iz'u 5 vadksa dk gS A
1. Explain how micro and macro economic analysis are complementary to each other.

crkb, fdl izdkj lw{e vkSj O;kid vkfFkZd fo'ys"k.k ,d&nwljs ds iwjd gSaA

2. Explain the concept of Marginal Propensity of Consumption (MPC).

lhekUr miHkksx izo`fÙk (MPC) ds fopkj dks le>kb, A

10. 'Golden Age' according to Mrs. Joan Robinson is achieved at that point where :

(a) Savings growth rate = Investment growth rate

(b) Population Growth Rate = Capital Growth Rate

(c) Gross Savings = Gross Investments

(d) Aggregate Demand = Aggregate Supply

Jherh tkWu jkWfcUlu ds vuqlkj ^Lof.kZe ;qx* ml fcUnq ij gksrk gS tgk¡ %

(a) cpr o`f) nj = fuos'k o`f) nj

(b) tula[;k o`f) nj = iw¡th o`f) nj

(c) fucy cpr = fucy fuos'k

(d) dqy ek¡x = dqy iwfrZ
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3. Distinguish between Balance of Trade and Balance of Payments.

O;kikj lUrqyu vkSj Hkqxrku lUrqyu esa Hksn dhft, A

4. Explain Maraxian concept of Surplus labour.

ekDlZ ds Je vfrjsd ds fopkj dks le>kb, A

5. Demand pull and cost push inflation.

ek¡x izsfjr vkSj ykxr iszfjr eqnzk LQhfr A

6. Hicksian view of business cycle.

O;kikj pØ dk fgDl dk fopkj A

7. Constituents of monetary policy.

ekSfnzd uhfr ds ?kVd A

8. 'Stationary State' as explained by Ricardo.

fjdkMksZ dh ^fLFkj voLFkk* dh O;k[;k A

Section - C

[k.M & l[k.M & l[k.M & l[k.M & l[k.M & l

Objective Questions (Compulsory)

oLrqfu"B iz'u ¼vfuok;Z½oLrqfu"B iz'u ¼vfuok;Z½oLrqfu"B iz'u ¼vfuok;Z½oLrqfu"B iz'u ¼vfuok;Z½oLrqfu"B iz'u ¼vfuok;Z½

Answer all questions. Each question carries 1 marks. 1 × 10 = 10

lHkh iz'uksa ds mÙkj vfuok;Z gSa A izR;sd iz'u 1 vad dk gS A

8. In the Cambridge Equation of Quantity theory of Money 'k' depends upon :

(a) Supply of Money

(b) Real National Income

(c) Velocity of Circulation

(d) Rate of Interest

eqnzk ds ifjek.k fl)kUr ds dSfEczt lehdj.k esa 'k' dk vkdkj fuEufyf[kr ij fuHkZj
djrk gS %

(a) eqnzk dh iwfrZ

(b) okLrfod jk"Vªh; vk;

(c) pyu xfr

(d) C;kt nj

9. Which one of the following objectives is not related to monetary policy ?

(a) Neutrality of money

(b) Price Stability

(c) Exchange Rate Stability

(d) Mobilising Fiscal Resources for the Government

fuEufyf[kr esa ls dkSu&lk mn~ns'; ekSfnzd uhfr ls lEcfU/kr ugha gS \

(a) eqnzk dh rVLFkrk

(b) dher fLFkjrk

(c) fofue; nj fLFkjrk

(d) ljdkj ds fy, foÙkh; lk/ku tqVkuk
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I. Mention True/False in front of the following statement :

fuEufyf[kr dFkuksa ds lkeus lR;@vlR; fyf[k;s %

1. GDP is a wider term than GNP. (True/False)

ldy ?kjsyw mRikn (GDP) ldy jk"Vªh; mRikn (GNP) dh rqyuk esa ,d cM+h jkf'k
¼ladsrd½ gS A ¼lR;@vlR;½

2. Fisher's Equation of Quantity Theory of Money is also known as 'Cash Transaction

Approach'. (True/False)

eqnzk ds ifjek.k fl)kUr ds fQ'kj lehdj.k dks ̂ ysu&nsu n`f"Vdks.k* ds uke ls Hkh tkuk
tkrk gS A ¼lR;@vlR;½

3. The bigger marginal propensity to consume (MPC) is, the smaller will be Income

Multiplier. (True/False)

lhekUr miHkksx izo`fÙk (MPC) ftruh T;knk gksxh vk; xq.kd dk eku mruk gh de
gksxk A ¼lR;@vlR;½

4. Bank rate is a fiscal tool. (True/False)

caSd nj ,d jktdks"kh; midj.k ¼mik;½ gS A ¼lR;@vlR;½

5. Hawtrey's Trade Cycle Theory is a monetary phenomenon. (True/False)

gkmVªs dk O;kikj pØ fl)kUr ,d ekSfnzd ?kVuk gS A ¼lR;@vlR;½

II. Choose the correct alternative :

lgh fodYi pqfu;s %

6. In the computation of National Income which kind of goods are taken into account ?

(a) Intermediate goods

(b) Primary or raw products

(c) Final products

(d) Capital goods

jk"Vªh; vk; dh x.kuk esa fdu inkFkks± ds mRiknu dh tkudkjh vko';d gS \

(a) e/;orhZ inkFkZ

(b) izkFkfed vFkok dPps inkFkZ

(c) vfUre inkFkZ

(d) iw¡thxr inkFkZ

7. 'Liquidity Trap' is the state where the interest relative demand for liquid cash is :

(a) Infinite

(b) Zero

(c) Unit

(d) None of the above

^rjyrk tky* og voLFkk gS tgk¡ C;kt lkis{k udn eqnzk dh ek¡x gS %

(a) vuUr

(b) 'kwU;

(c) bdkbZ

(d) dksbZ ugha


